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This is how we read the text — 9910 R RDT X7 RROYT
Both are when he did not have n37°y and sold it; here his n°1°2 was
worth X»by7 n>7vws, here it was not worth, etc.

OVERVIEW

There is a contradiction between two Mn»92 in a case where the (P°12) M had two
fields; a n112 and n>2°1. One XN>72 maintains that the M9 collects from the
n°11°2, and the other that he collects from the n>112°. The current reconciliation is
that one Xn°>12 is where his N 111°2 is X19v7 n°7°¥0 (the M71 collects from the n>12°7)
and the other is when his n°111°2 is less than Xn5v7 N>7°Y (the 791 collects from the
). However, both mn™1a are discussing a situation where n°7°v 12 0% X7
770m1 (as opposed to the previous answer when one Xn»92 was in a case where N7
77om Ny 17). Seemingly this phrase 717911 n°1°Y 19 An° X2 means that he never
had n>7y. However if that is the case it should have been stated more simply X>w
N1y 1% an°n; why the addition of '717911'? Our n»voIn will clarify this difficulty.

mooIn anticipates a difficulty:
- 29991 NY1Y 19 NN RV X2 YN YN YINPT N

And the reason the X2 answers (in this fashion); that this Xn>>72 and this Xn»"2

are discussing cases where for instance he had no n>7°» which he sold -
= 99599 1N RHY 299919 1799907 91991Y '¥a XD

And the X723 did not choose to state that both n1n>>721 are discussing a case where

he never at all had n>7°Y. This would have been a simpler way of saying it, rather than X>w>
779 NPTy TS T -
- 211939393 19 597 INBR RAYYT TP 77T 731352 KIYT ¥95137 NN 19 ONT

For if this indeed so (that the P> was never in possession of n*7°v), then that
xn>12, which is discussing a situation where his nu1°2 is worth X»5p7 no1ows,
why is it called n°1113; it should be called n>7°v! Therefore we cannot assume that both

! mooin is negating the X073 of '@ N>y 12 AnvAwS XY >R The difficulty with that X073 is that the X»3 states
that the m%n takes N*12°7 in a case where the n°111°2 of the M7 is X127 n°7°v3. This law would be true even if the m?
still has the n>7°v (since we now maintain that Paw 17 29w Hw3).

? The apparent meaning of this statement is that he never had n*7'v; therefore mooIn asks the immediate following
question. MoOIN will shortly explain what this really means.

> The mP (or p>1n) never had n>71°v. This n°>111°2 was his best field (his n>7°v). This n°11°2 is X177 172, Therefore
whether we assume 7nw 177 Y2Ww32 or 1w 37 2w Hwa this (n1102) field is N7y,
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mn»92 are in a situation where the Mm% never had n>7°y. Obviously one ¥n**72 must be discussing
a case where the MY either had or has n>7°v. What then is the meaning of N 71°¥ Y% a0 XoW>
7o ?!

mooIn explains what is really meant by 719m1 n°7°Y 1% 700 ROW:
= 1991 Y 1D NNPN ROV »1IN) Y1IN MNP 291 NN

Rather this is what the X713 is answering; ‘both are in a situation where he did

not have n 7y which he sold’ -
= *@9)9 19 AP XYW 9990 NTHA NIN 1999) 193 19 DAY 599N XY 91199

Meaning that neither Xn»721 is in a situation where he had n>7>y and sold it; but

rather one Xn>12 is where he never had n>79Y; this is the Xn>12 where the n1"va collects
from the 1112 (since W NN12 is not XAHYT NP3, but X39v7 N°11°23)° -
R rA%) 129 19 NNIY 990 NN

And one X072 is in a case where he had n>7°Y and he still retains it; this is the
Xn»12 where the 1"v2 collects from the N>712°7 (since 12w N°1I°2 is RPYYT NI7VI) -
*PRY 10 09Y YU 179N 9301 TATY DIV 9919 SIPING TP PN

And it is not necessary to assume that the M7 sold any field; and both mn>1a
maintain that P»w 37 29w dwa.’

SUMMARY

The expression 777221 N°7°Y 17 7N X?w2a can mean either he never had n>7°v, or he
has and never sold it. The 8n>12 where the M%7 collects from N1, is where the
N1 is not XnovT noova (and the MY never had n°7°v), and the Xn°12 where he
collects N2 1 is where XnyT N 7°yd M»7 111172 (and the M still has the N7°y).

THINKING IT OVER
1. According to n1©0N that one XN>72 is where he never had n>79,'° then how does

* The term %3 is (frequently) used to intone that the interpretation is not as it apparently seems. Here too the
expression of 77191 N>7°¥ Y2 N7 KW is interpreted in two opposite ways.

5 For if he has 7y, why does not the 11 collect from them; since his n°111°2 is less than &72y7 n>7v. See ‘Thinking
itover’ #1 & 2.

® The m9n collects from this N°11a (even though it is the NPy of the MY), since Prw 17 DY w3, as MooMN will
shortly state.

7 This is the advantage of this answer over the previous answer, which assumed that one Xn>72 is in a case where
772m) 7Y 17 10 something which the X2 did not mention.

¥ The three answers that the xn3 gives reflect (respectively) the three possibilities; a) everyone maintains 171 1722
"M, b) everyone maintains Paw 17 02 2w3, and c) there is a dispute whether Y22 or nw 37 02w Ywa.

’ This explains (also) why even the pr1 takes only from n°n2 in the case where the (m9) > never sold his n*7y.
However, since 1w 177 02 %1 and the n°ha of the ((7) p*1n is X7¥7 N7y, therefore the pri receives only the noaa.
' See footnote # 5.
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the Xma refer to this Xn»12 saying Xn9Y7 N°7°¥ 120 N2 KW RPT Xi7; how can we
refer to his best field (that he ever had) as Yow nn22!"!

2. Why can we not say that the Xn>12 where the Mm% collects from n°21°1 is where
the m> has n*7v;'> however the pri cannot collect N>y, since the (;7727) P17 N7y
is superior to Xnoy7 Ny

' See n"m.
12 See footnote # 5.
1 See 2071 NI 1" wITR "R 0.
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